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Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 4771873671 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
A teacher using different aids and methods at different stages of teaching a
toplc 1= using
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Stimulus variation
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Question Number : 2 Question Id : 4771873672 Question Type : MCQ Option Shuffling : Yes
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Correct Marks : 1 Wrong Marks : 0
This phase 1s also termed as winding up of teaching process
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Question Number : 3 Question Id : 4771873673 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The best learning method among the following to teach students, to conduct
sclence experiments in laboratory 1=
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Correct Marks : 1 Wrong Marks : 0

One among the following relates to preparing the’ social environment’ of the

school for inclusive practice
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Question Number : 5 Question Id : 4771873675 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
This section of the Right of Children to Free and Compulsory Education Act,
2009 provides for specifying an academic authority by the appropriate
Government for Curriculum and Evaluation pl‘ecedures
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Question Number : 6 Question Id : 4771873676 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the correct statement relating to ‘Assessment’
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Options :

Assessments have no role in enhancing instruction
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Assessment and evaluation are one and the same
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India has acceded to the UN Convention on the Rights of the Child in
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Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

One among the following can be considered under the learning resource of

school
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Question Number : 9 Question Id : 4771873679 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
A particular state has engaged an agency to guide students of Class X in
choosing the courze of study after Class X. Such guidance is
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Question Number : 10 Question Id : 4771873680 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify among the following. the guideline for promoting discovery learning

proposed by Bruner
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Match the following principles of development with their inlplicaticm
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A) Development proceeds
from general to specific
responses
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FB580rr aeirding heart o
0B Jrohnd Deeiiod® Bbsad
Sotéo

Child calls all food items as ‘aam’
before using exact names
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Question Number : 12 Question Id : 4771873682 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Read the following statements and identify the correct answer
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A)  Achieving puberty and becoming mature cannot be bound to a universal
span or period
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Question Number : 13 Question Id : 4771873683 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Emotional experiences influence which of the following systems of our body
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Question Number : 14 Question Id : 4771873684 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Vedant shifted to a new village on the river side due to transfer of his father's
job. He made new friends and used to go with them to the river bank. While his
friends of his age who are children of fishermen could catch fish. Vedant could
not. The difference in performance between Vedant and his friends is due to

difference in
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Question Number : 15 Question Id : 4771873685 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Kumar is a one year old boy. His mother never feeds him at regular time
intervals and sometimes even when he cries of hunger. According to Erikson,

the child may develop a sense of
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Question Number : 16 Question Id : 4771873686 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Hema who was playing with her infant, got up and went away. The infant
searched for the mother here and there and started crying as she could not find
the mother. The concept of Piaget’s cognitive development that has developed in

the infant is
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Question Number : 17 Question Id : 4771873687 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which among the following Does Not reflect ‘thinlking’
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Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
‘Introvert” and ‘Extrovert’ are terms used to describe types of
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Question Number : 19 Question Id : 4771873689 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Charu has lost her job because the company for which she works 1s running in

loss. Charu became very sad. That night when her mother went mto Charu’s

room., Charu was sleeping hugging her childhood soft toy that she had kept in

the store for so many years. This 1s an example of the defense mechanism
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Question Number : 20 Question Id : 4771873690 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
A researcher is studying the trait of ‘Sociability’ of students studying in a
particular school. He has developed a tool on which the persons known to the
students can indicate the trait in degrees in five points from very low to very
high. The tool developed 1s a
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Note: For this question, ambiguity is found in question/answer. Candidate will get full marks for this
question if any of the correct options are chosen.



Question Number : 21 Question Id : 4771873691 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Read the following statement. ‘A new born from the time he/she is born
irrespective of race, culture, gender etc. learns many things and exhibits change
in behaviour in all the domains with no age limit set for any learning’. The
inference that cannot be drawn from the statement is

Sod m@Sc-.J_rG'Elj_m:' S8508. =8, HodB, Dofio BndBH TEE Somolo Bhor SHerd

36D o0& /6D HOSHS Dol oI IdreH I Hotrdd HoH oHTd

a8 E'?a
Eﬁ

HEPHEME Bhootr o) Gom&#.m‘aﬁééﬁ SRSy HO8RDT. & ?;J 5 oS ol
FaLsD sooyto
Options :

Learning 1s always positive

i

885050 Qe il JPRIErPeoT G06nod
1. ¢

Learning is continuous

egiino Aboslorr Gotnod
2. %

Learning 1s universal

o FPUyBEDHHG
3. %

Learning is comprehensive process covering conative, cognitive and
affective domains
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Question Number : 22 Question Id : 4771873692 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

A person wanted to become an officer to make his mother happy. He worked

hard and succeeded because he 1z influenced by hia
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Question Number : 23 Question Id : 4771873693 Question Type : MCQ Option Shuffling : Yes
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Correct Marks : 1 Wrong Marks : 0

This law of learning of Thorndike emphasises the need for repetition in learning
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Question Number : 24 Question Id : 4771873694 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The phenomenon of spontaneous recovery put forth by the classical conditioning

theory where a conditioned response reappears shows that learning 1s
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Question Number : 25 Question Id : 4771873695 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
According to Skinner, for yielding better performance, we should begin and end
with these reinforcement schedules respectively
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Correct Marks : 1 Wrong Marks : 0

According to Vygotsky Children of 2

to 5 years age speaking to themselves while

plaving with toys indicates the role of this in development
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Question Number : 27 Question Id : 4771873697 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Learning in this domain 1s mostly related to acquisition of skills relating to
physical and motor development
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Question Number : 28 Question Id : 4771873698 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

A person doing lot of community work to gain rewards 1s motivated
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Question Number : 29 Question Id : 4771873699 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Kirit has ordered an item online to be delivered by courier. The ID number

given was ‘070123876’. He remembered the number as ‘970 123 876". This

technique of memorising is called as
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Question Number : 30 Question Id : 4771873700 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The significant educational implication of the mechanism of transfer of learning

1z that learning in one situation is capable of applying in another situation
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Question Id : 4771873701 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
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Question Numbers : (31 to 34)
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Correct Marks : 1 Wrong Marks : 0
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Question Number : 34 Question Id : 4771873705 Question Type
Display Question Number : Yes
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& B

Tl Wl OBy OB Y Tl D S L T a1

DSy HEERN &) DEAE5H L5t
)

Options :

0%
| ® =
ol
5 % o\l
b
Gup“n:i.
3.9
D5 &8
4, %
Sub-Section Number : 2

: MCQ Option Shuffling : Yes

: MCQ Option Shuffling : Yes

Sub-Section Id : 477187193



Question Shuffling Allowed : Yes



Question Id : 4771873706 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (35 to 38)
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Question Number : 35 Question Id : 4771873707 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 36 Question Id : 4771873708 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 37 Question Id : 4771873709 Question Type
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 38 Question Id : 4771873710 Question Type
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Sub-Section Number : 3
Sub-Section Id : 477187194
Question Shuffling Allowed : Yes

Question Number : 39 Question Id : 4771873711 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 40 Question Id : 4771873712 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes
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Question Number : 41 Question Id : 4771873713 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 42 Question Id : 4771873714 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 43 Question Id : 4771873715 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 44 Question Id : 4771873716 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes
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Question Number : 45 Question Id : 4771873717 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Display Question Number : Yes
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Question Number : 47 Question Id : 4771873719 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 48 Question Id : 4771873720 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 49 Question Id : 4771873721 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Display Question Number : Yes
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Question Number : 51 Question Id : 4771873723 Question Type
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 52 Question Id : 4771873724 Question Type
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 53 Question Id : 4771873725 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Display Question Number : Yes
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Question Number : 55 Question Id : 4771873727 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 57 Question Id : 4771873729 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Display Question Number : Yes
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Display Question Number : Yes
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Language I1 English

Section Id : 477187123
Section Number : 3

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 26
Number of Questions to be attempted : 26

Section Marks : 30
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 477187195

Question Shuffling Allowed : Yes



Question Id : 4771873733 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (61 to 65)

(61-65) Read the following passage and choose the correct option for
each question.

Urban areas provide a wider range of employment opportunities that are
often not available 1n rural areas. A majority of jobs in urban regions are
white—collar positions that offer higher salaries and a better standard of living.
As a result, the primary advantage of urbanization is the creation of better job
prospects. Citles attract people from rural areas by offering higher-paying jobs
and an 1mproved quality of life. In rural areas, 1t can be difficult to find well-
paving employment, whereas urban centers offer a wealth of opportunities. This
increase in employment is largely due to industrialization and various business
activities. As agriculture transitions to industrial production, there has been a
decline 1n agriculture-related jobs and a rise in manufacturing and service-
based roles. This shift encourages people to move to cities, leading to greater
industrialization and urban growth worldwide.

Additionally, urbanization often improves an individual's social status.
Earning a higher income in cities enhances a person’s lifestyle. Access to better
job opportunities also brings improved healthecare, education. cultural activities,
soclal services, transportation networks, and trade opportunities. Urban living
opens doors for people to elevate their social standing. freeing them from the
limitations of their birth circumstances. Life in cities is generally more

convenlent, with easy access to almost everything one needs.

Sub questions

Question Number : 61 Question Id : 4771873734 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Cities attract people from rural areas by offering

Options :

higher-paying jobs and a low-cost living.
1. ®



lower —paying jobs and an improved quality of life.

2. ®
higher-paying jobs and pollution free life.
3. %
” higher-paying jobs and an improved quality of life.
4. |

Question Number : 62 Question Id : 4771873735 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Based on the reading of the passage, choose the INCORRECT statement.
Options :

Urban Iife creates opportunities for social mobility. overcoming birth

constraints.

l.
Most jobs in urban areas are white-collar roles that provide lower
salaries.

2.
City life 1s usually more convenient. with easy access to almost everything
one requires.

3. ®
As agriculture evolves into industry, agriculture jobs reduce, and
manufacturing positions expand.

4. %

Question Number : 63 Question Id : 4771873736 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The given passage 1s about

Options :

opportunities of employment in agriculture.
1. ®



types of employvment.

2. ®

imndustrialization impact on environment.
3. %

employment opportunities in urban areas and its impact on life.
4.

Question Number : 64 Question Id : 4771873737 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the meaning of the word ‘transition’.

Options :
Stagnation
1. ®
Transformation
2.
Remission
3. %
standstill
4.%

Question Number : 65 Question Id : 4771873738 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
As per the passage, access to better job opportunities brings

Options :

improved transportation.
1. &

pollution free hife.
2. %

economic instability.
3. ®



migration to rural areas.

4, %

Sub-Section Number : 2
Sub-Section Id : 477187196
Question Shuffling Allowed : Yes

Question Number : 66 Question Id : 4771873739 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Pick correctly spelt word.
Options :
Adjasent

1. ®

Absense
2. %

Adversary
3.¢

Acquiant
4. %

Question Number : 67 Question Id : 4771873740 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Identify correctly punctuated sentence.
Options :
The child cried “Help! , Help!™

1. ®

The child cried. “Help! Help!”
2.

The child cried, help! help!
3. %

The child cried. ‘Help. help”
4. %



Question Number : 68 Question Id : 4771873741 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the meaningtful sentence.

Options :

4.+

The reforms that we need are the ones that can raise actually our

sustainable term long growth rate.

The sustamable reforms that we need are the ones that can actually raise

our long term rate growth.

The reforms we need that are the ones that can actually raise our

sustainable long term growth rate.

The reforms that we need are the ones that can actually raise our

sustainable long term growth rate.



Question Number : 69 Question Id : 4771873742 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Some voleanpes appear similar to those formed from the of thick,
viscous lavas on Earth.
Complete the sentence with correct option.
Options :
collusion

1. ®

) % erDsE101

eruption
A

1mplosion
4. %

Question Number : 70 Question Id : 4771873743 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
He believes that sinners are redeemed by their faith in God.
Identify the synonym of the word ‘redeem’.
Options :
save

1. v

punish

abandon
3. %

neglect
4% °



Question Number : 71 Question Id : 4771873744 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The science of measuring time in fixed periods and of dating events and epochs
and arranging them in the order of occurrence is called

Options :

Bibli{}g‘f :‘Lph}',
1. %

Chronology.
2. ¥

Cosmology
3. ®

Ethnology
4. %

Question Number : 72 Question Id : 4771873745 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
He said to her, “Why didn’t you go today?”
Identify the indirect speech.

Options :

o He asked her why she had not gone that day.
1. ¢

He said to her why she don't go that day.
2. ®

He asked her not to go that day.
3. %

He asked her why she did not go today.



Question Number : 73 Question Id : 4771873746 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The manager made the customers longer than usual.

Options :

to waited
1. #

'EL T ] ]
) ® walts

to wailting
3. %

wait
4.

Question Number : 74 Question Id : 4771873747 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the part with an error in the given sentence.

Both he as wellasI are going to  Hyderabad tobuy  a new car.

A B C D

Options :

A



Question Number : 75 Question Id : 4771873748 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
She's been trying to the support of other committee members.

Complete the sentence with correct option.
Options :

. explicit

illicat

ilicit

elicit
4.

Question Number : 76 Question Id : 4771873749 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
He lives in a large house.
Identify “adjective’ in the sentence.

Options :

house



Question Number : 77 Question Id : 4771873750 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The doctor will be back a few minutes.
Complete the sentence with correct option.
Options :

1$30f

n
2.

; w at

L % with

Question Number : 78 Question Id : 4771873751 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

It was raining very hard and he had a very large umbrella to the rain-
drops.
Complete the sentence with correct option.

Options :

keep off

kept off

put down
3. %

put off



Question Number : 79 Question Id : 4771873752 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the meaning of the idiom ‘Cry for the moon’ is
Options :

| ® to win a victory.

to come out successfully.

2.

to limit someone’s ability to do.
3. %

to wish for something impossible.
4.

Question Number : 80 Question Id : 4771873753 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

One who walks on foot 1s called
Options :

. paediatrician
1.

pedestrian
2.

pauper

N peddler
4,



Question Number : 81 Question Id : 4771873754 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The government conceded the right to establish independent trade unions.
The meaning of the word ‘concede’ 1s
Options :
dizallow

1. %

deny
2. ®

assent
3. ¢

refute

Question Number : 82 Question Id : 4771873755 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Your mother 1s an officer.

Choose the correct option to complete the sentence.
Options :

1sn’t she
1. v

won't s
3 % von't she

doesn’t she



Question Number : 83 Question Id : 4771873756 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Arrange the following to make a meaningful sentence.
P:  Living in harmony means
Q: and solving problems
R:  kindly and peacefully.

S accepting differences

Choose the correct option.

Options :

.« PQSR
P.R.S.Q

2. %

.« PQRS
P.S.Q.R

4. ¢



Question Number : 84 Question Id : 4771873757 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

This question 1s than the last one.

Choose correct form to complete the sentence.
Options :

hardest

harder

hard

4 % more harder

Question Number : 85 Question Id : 4771873758 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The following one is NOT a targeted discourse at the primary level of Telangana
State Board.
Options :

Profile
1. v

Slogans
2. %

Rhymes/Songs
3. %

Poster
4, %



Question Number : 86 Question Id : 4771873759 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Features of language known as ‘Design features’ coined by
Options :

Noam Chomsky.

Roman Jacobson.

C F Hockett.

Edward Sapir.

Question Number : 87 Question Id : 4771873760 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The following one is NOT an advantage of Language Laboratory.

Options :

Interactive Learning
1. %

Pronunciation Practice
2. ®

Individualized Learning
3. %

Unhmited Feedback on Non-Verbal Communication
4.



Question Number : 88 Question Id : 4771873761 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Identify the sub-skill of Listening.

Options :

Articulating stress patterns within words.

1. %
Retrieving information stated in the passage.
2.
o Understanding attitudinal and conceptual meaning.
3.

Expressing information explicitly.



Question Number : 89 Question Id : 4771873762 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Read the following two statements about the “Bridging the Gap Activity” given

in the initial pages of Class V English Textbook of Telangana State Board.

Statement A:  The pictures given for bridging activities are meant for classroom
interaction in order to equip the children to acquire basic
language competencies.

Statement B:  The pictures given for bridging activities are given to expose the
children to the primary discourses. 1.e., description, conversation,
and story writing.

Options :

Only the statement A 1z correct.

l.

Only the statement B 1s correct.
2. ®

The statements A and B are incorrect.
3. ®

The statements A and B are correct.
4.



Question Number : 90 Question Id : 4771873763 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The best approach in a multilingual classroom 1s
Options :

allowing students to use their home languages alongside the language of

mstruction.
1. &

focusing solely on the schools” primary language of instruction.

2. %

1gnoring the students’ native languages.
3. %

avolding bilingual dictionaries.
4. %

Mathematics
Section Id : 477187124
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 30
Number of Questions to be attempted : 30
Section Marks : 30
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 477187197
Question Shuffling Allowed : Yes



Question Number : 91 Question Id : 4771873764 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following numbers is NOT divisible by 367?
& Bob Homed® 28 36 D grhotelth?

Options :

5472
1. #

1296
2. ®

2448
3. %

0044

Question Number : 92 Question Id : 4771873765 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Ratio of diameter to radius in a circle 18

o
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1. %
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Question Number : 93 Question Id : 4771873766 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The number of cubes of side 6m that can be made by melting a metallic cuboid

measuring 24m X 18m X 9m is

2450 X 180 X 950 Foden 5HAS 7550 63 vard 58Acd 8dird 36hiie 65b gheo
2

-' (V.4 a T
oy
Ve anate o
)

Options :

18
1.¢¥

14

16

Question Number : 94 Question Id : 4771873767 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
If240 = 2* X 3¥Y X5%, thenx+y+ z =
240=2*X3Y X 5% wond8 x+ y+z=

Options :



Question Number : 95 Question Id : 4771873768 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

0.26666 =
Options
.26
1. %
13
50
2. %
15
3. ¢
2
3
4, %

Question Number : 96 Question Id : 4771873769 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
What is the discount at 15% on an item with marked price of 9607

ol i Ty s T O Y e i T L
3563 0 960 8OAR 5w 15% #hos) <Jod?

Options :
T132

1. %

) % T164

7144
3. ¢

T132



Question Number : 97 Question Id : 4771873770 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
A school closed for Vijaya Dashami festival on October 18 at 12 noon. After
the vacation. it is opened on October 30 at 9 am. Then. the time (in hours)
during which the school was closed for Vijaya Dashami festival was

n

aady 085 Hothl B%0 o

& U'{_i ]

-

e B =

o6 183 Horgrpe 12 HovedH 28 e
srdsdhadod. Rode SooE, %%}5 305 etcho 9 Hoted ardare BUdolobd.

5300, Dadh BE& Hothil 5o Srdare srdddhaldsd Hidho (Hosbed®)

Options :

L% 309

285
2.9

288
3. %

306



Question Number : 98 Question Id : 4771873771 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The average of 6 numbers is 18. Five of them are 18, 25, 13, 16 and 21. Then.
the sixth number 1s

ogre piién 18, a8 oth Do ren 18, 25, 13, 16 50840 21 &ond, @i Hogr

Options :
15
1.

Question Number : 99 Question Id : 4771873772 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The 10th term 1n the series 2, 4, 8, ...... 18

2 o = o o P g
2.4, 8, ...... ogrey ZeBS” 108 5850

) 1

Options :

2048
1. #®

1864
2. ®

1512
3. %

1024



Question Number : 100 Question Id : 4771873773 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

o3+l 3)

Options :

% 175

5 0.75

15

| b

Question Number : 101 Question Id : 4771873774 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
What 1s the smallest number when it 1z divided by 2, 3. 4, 5, 6 and 7 leaves a
remainder 1, 2, 3, 4, 5 and O (zero) respectively?
2,3, 4,35, 65860 7 08 eRodBdtd $%dre 1, 2, 3, 4, 5 H8am 0 (Hae) Fhore

LT'-_"‘_J“ oy A e ~ e
adlries Eeg 1,,'}‘5; 0 a5 ?

Options :

258
1. %
2. % 172
; % 211

Lo 119



Question Number : 102 Question Id : 4771873775 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

36% =

Options :

360
] %
5 % 3.60

0.36
3. ¢

3600
4, %

Question Number : 103 Question Id : 4771873776 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The perimeter of a rectangular park is 98m and its diagonal length 1= 41m.

The area (in sq.m.) of this rectangular park is

_j)

e}

D o Y # o o - N . AT . "‘_ i L N e £ o . ﬁ_\
BESRGrsPEod” 68 o8 sty hénfled 98D, HBcn ol 8w tPEY 41h. ©
ol g EE B

b

(=9
- i r~ i~
e — S 4 - e o D
o200y CIDS; Eﬁ”&f@{“ﬂi.m.&é )]l
o o i

Options :



Question Number : 104 Question Id : 4771873777 Question Type
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The sum of length of two sides of a triangle is always

2.8 Bgheso GInE) Cold ghere srEde Sndo aeay i

Options :
half of third side

) s
s 2hesod® Bho
1. #

greater than third side

2heso Sob)

T T
el {5ad oS3 60
L

2.¢

equal to third side

G
AV LI e,

m

5 . - o
ey EoeTes)

(i

less than third side
SrEs) gheso Baey 8%

4. %

: MCQ Option Shuffling : Yes



Question Number : 105 Question Id : 4771873778 Question Type
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following statement is correct?

Ao R B V-
= ipOEJ Pt ol L2 abd r..."_ﬁ:\-..‘a;

Options :
L% —14 >-10
) % —14 =1
—14 < —20
3. %
i {_" R
. 14 < —-10

Question Number : 106 Question Id : 4771873779 Question Type
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

: MCQ Option Shuffling : Yes

: MCQ Option Shuffling : Yes

In how many years, interest on amount of 4000 will be ¥1920 at the simple

interest rate of 12% annually?

eSiiof ?
Options
1
2
2
1. ®
3
2. ®
4
3.¢¥

n

—

FBEom 12% Frgrdes H& Gend® 29, Joddmred® 74000 Zndod $& 71920
- =



Question Number : 107 Question Id : 4771873780 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following is a polyhedron?

r} £l

ire

of e

i

Iy
AN NN ENED

!

08 7?

Options :

Prism

vl p el
o85S0

L

Cylinder

a a
el o
(o)

. % -



Question Number : 108 Question Id : 4771873781 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
If weight of 1 cubic ecm water is 1 gram. then the weight of 1.75 Kilo Litre
water in Kilograms is

\_z '-':\ . : & g L = roly _: i & '"'.\. # o = -

1 2085 Rotidned 28 o259 1 e ond, 1.75 &&° 060 A o) S raned

Jod8?

Options :

1.75

1. %

, % 175
1750
17500

4,

Question Number : 109 Question Id : 4771873782 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
306.85 + 2.603 + 32.057 —1.406 =

Options :

| 341104

341.109
2. %

339.1090
3. %

340.104

4.



Question Number : 110 Question Id : 4771873783 Question Type
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The LCM of two consecutive odd numbers 1s

GotdH $5% 85 Qogye 5.aP.10.

Options :

1. %

2.¢

3. %

Greater odd number of them

R - R
e helc;_._ ALy O8I
= o

Product of them

Dhfference of them

= r
sled B0

P

: MCQ Option Shuffling : Yes



Question Number : 111 Question Id : 4771873784 Question Type
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following is the smallest prime number?

Ue
oo
l'i'.l

08 TPH 5’*?5:\ RS Koy 26?
Options :
2
1. ¢
2. % 0
3. % 7
1
4. ®

: MCQ Option Shuffling : Yes

Question Number : 112 Question Id : 4771873785 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

]

=3 oy
(200 oTPolt

[=
I']:I

e B ET pp e B TR 3 S, S
7 ol S0N6] :':'EL'-_:"!:‘-' OoliP fPoley ESPe0adD

Options :

E

|, ®
2. % ke
H

3.¢
K

Which of the following English alphabet has two lines of symmetry?



Question Number : 113 Question Id : 4771873786 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

; 1 4
The fraction between = and s
L s IBL o e s g
— 0800 —o 0" 65y Sl
3 ? & o, (=8
Options :
| & 21
3
2. 7
13
3. % 21
4. %

Question Number : 114 Question Id : 4771873787 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Ifx+y=26and x —y =12 then 3x — 4y =
Xx+y =26 b0 x—y =12 wond, 3x — 4y =

Options :



Question Number : 115 Question Id : 4771873788 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Match the following methods of teaching mathematics (A) to their procedures
(B):
808 HeBé S H8deon (A) 8 drare (B) & adddsod:

A B
A) Inductive method 1)  Logically deriving one principle from
ezl HS& another
.8 dro ol B8 dr@dy @08, 50
&80 Fohio
B) Deductive method ii)  Encouraging students to think
WptntRslats creatively and find solutions

ATPgen Nyesrd o 8Et)

a’:&ﬂﬂémsé; SRASTRR8

sP#erodito
C) Laboratory method 111 Pr{)ceeding from specific cases to
BoIrHiEre HE& generalizations

igmﬂ 2ot0E Do & Frsstn

Hoidodtio
D) Heuristic method iv) Encouraging the students to do
== of 5 Ty - '
BT RET 2 ;Je_q practical and experimental

ey -:t-h 0 @0 Borm sndain
BErrE Sorr B00E8 G Srosito

Choose the correct answer

c\,j«:é PRI TE”‘EJ“ aotns° O[R
Options :
B-mC—-1.A-1nD-w

1. %

A-1,B—1w,D-m,C—1u
2. %



D-1A-mC—1u,B-iv

C—w,B—1,D—mn, A—m
4.

Question Number : 116 Question Id : 4771873789 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Key characteristics of a good mathematies textbook
shot) He3d arBpddso Gng) oy eferen
A Presentation of concepts clearly.
FPHdoND Qo @i8josto
B) Inclusion of puzzles, projects. and open-ended questions
526, Erafen HbAM awd Sirerarey S HE D Sloilale
C) Arrangement of concepts from simple to complex
gPHSem abfo ood Fiogigﬁfi% @shdyo
D) Providing opportunities for visual learning
838 gl wdsedo B odto
Choose the correct answer
K08 Barrard) Johsiod
Options :
A, B& Conly
s« A B& Cirgd

A, C& Donly
A C& Dirmgad

AB&D only
A, B& Dsmgah

ABC&D



Question Number : 117 Question Id : 4771873790 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Activities that provide both fun and learning experiences in mathematies:

- o B ; £ 2 i
Hebdod” DT o $r8dn @ef;:do Sofiod) englaren é@n}oé S‘Jﬁ;é&”‘-‘ﬁﬂﬂ::

A)
B)

C)

D)

Solving a larger number of monotonous problems
- # L R - s .,

)88 D0gS” 2B08 Hanyend abayboiito
Reading math-related stories

o o

NEE HomohHE BHesh SH5do

Solving riddles and brain teasers

#
S

08y ¥ en 080D DHHE HEH HowohHolR Db HByboiito

Copying the teacher's written solutions from the board.

&aPER Aot Erhd H8apTre oy Sof =5 Zshéo.

Choose the correct answer

5B BEPSTY JoHE k.

Options :
A & Donly
A&D El"‘uﬁ-:.q::-

2. ¢

B &'.‘ 9 (}1115'
B & C simiah

A . C& Donly
A, C & D srgad

AB.C&D



Question Number : 118 Question Id : 4771873791 Question Type
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The main purpose of math resources in school:
FBTes® Kdd Sdhe g Sng; Fé e
Options :
To decorate schools and attract students

. - a r =
aPBaron) veoibodto Hbdn duryhe Pﬂé@ohdo

: MCQ Option Shuffling : Yes

1. ®
To make students tired and bored
NePKoeR) eodSFaher HHBaM 85D Soder oo

2. %
To help students learn mathematics with enjoyment
TEernen B md F D B iEod® Sahnde
METL%-,_,J i\ EiEe o) GDO 05" als caPOay

3. ¢ ' B

To make homework more difficult

Zofiae snbod éa&&;-.’:io odhdo



Question Number : 119 Question Id : 4771873792 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
This 1s NOT a Herbartian step in writing a lesson plan:
2b ol D08 0SEE” TrTe -_xlgtt‘ﬁ Pardo sed:
Options :
Visualisation
- E VT
')-:""E-::'t'r_.'u

. & A

Prezsentation

BB

T A o #
o100 a8 B8 Des

Application

Preparation

.
odod a0

4, % =



Question Number : 120 Question Id : 4771873793 Question Type :

Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Diagnostic assessment helps in the following:

o
:

&°9 I:FJ Jes srerroSio & Sob srdd® HPdhHthMEod:

Options :

To give grades to students

MCQ Option Shuffling : Yes

J_‘f?‘f*ca 8 Aeoen 33 R

To identify the areas where the student struggles with math learning

cibir
o
Sc-,

s B = =5 .
FI-E-:'E‘__E"\;M':“F__ )]

06 g 6 B@)0h DEDER,) ¢

5
O | Del"‘t et

To guide students in choosing the right career in the future

To promote them to the next class

)

T LT RO - R
oJ @'f."-'ht’j‘:n |3.|-:-.:.a"

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section MarKks :

Maximum Instruction Time :

Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

i . £ o P -
::}f_‘.'”:lf_“ja}'?'_gj i.;._.'l:ll{l..l__%ﬁ\ P-U&)ET‘, E:rv o

-
T} il ey O
SO0

|
T o o W - oy B
*a5 ':UFEG(jt;ﬁO LANTEAS

Environmental Studies

477187125
5

Online
Mandatory
30

30

30

0

1
477187198
Yes



Question Number : 121 Question Id : 4771873794 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Geeta observed that her brother's gums bleed easily. This vitamin might be
missing in his diet

A& &5 PHBE DY) Dol heForr B5o H&0ED Hihlodod. 88l 8sPlod” &

i

62808 S a0t GoEH)
Options :
Vitamin A

=
sEafnm A

Vitamin D

oya gy B
o83 alled D

Vitamin B

aeins B

Vitamin C

Deadns C
4.



Question Number : 122 Question Id : 4771873795 Question Type
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Full form of NECC
NECC H Cu <:CICI
Options :

National Export Coordination Couneil

[add o ‘0:55 g ‘-%HE.;‘E 2 Tne

d

National Energy Conservation Council

National Education Coordination Council

B 5 = —me
o }\é-‘:ﬁ, -:a_f._‘ Su..-;.'\, 5 'G—‘a{vo]_m Er;:'n:@

National Egg Coordination Committee

v.'\..-v:-ﬂ\:'f-ll’iE -:s_ﬁ B 3 Eu- ,E
4.

: MCQ Option Shuffling : Yes



Question Number : 123 Question Id : 4771873796 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Tikka disease in groundnut is caused by:

1l

s g gl MR e e s
JGERnE” €7 8iben o h 24 de 25:nob:

[=]

Options :

Bacteria

A=

Nematode

# -
€]

% 3

Rl

Fungi

BoTren



Question Number : 124 Question Id : 4771873797 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Read the following statements and choose the correct answer:
&0B arsg) e $68 K7% SErgrko sohstod:
Statement I : Flu 1s an acute disease.
Y eVl I : @‘f‘ 2.8 @Eﬁ]‘iﬁéﬁéﬁﬁ ﬁ;ﬁ;?@g st
Statement II : Filarasis 13 a chronic disease.
ey 11 : Stisoen 2.8 %@55@:—5 .
Options :
Both statement I and statement [I are correct
secse I 308050 amrgyr 11 Bote 505
1. v
Both statement I and statement II are incorrect

e I 308030 g I Collr 285008

ate E

Only statement I 12 correct

ol

s L smsah $856

Only statement II 12 correct

aecaye 11 Sim@iadh D056



Question Number : 125 Question Id : 4771873798 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT an effect of a cyclone?

5 "
Eobfy artld v‘?’Uq__.':‘:L |J """:34 f=chalA) u:-,r':j'-"

Options :
Heavy raimnfall and flooding

Vo) “‘rﬁ #o 08din Soten

1. ®
Cyclone warning systems
) ‘&? ft"-"..rg.» n_l, FtJ 5§ ;é;:_ﬁ?_}:
Storm surge
3 % Fogeah &3

Damage to crops and property

at s Al f =4 -
aoten s08din ahs ¥ao
—= )



Question Number : 126 Question Id : 4771873799 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the non-conventional gas resource among the following:
Bob BS° PoPTrahES ardin HH 10BoPob:
Options :
Natural Gas

e gl
tledPel aPCRY

1. %
Coal bed Methane
s8¢ BE HEs
2.¥
Compressed Natural Gas (CNG)
. HohH&E Hire: arand (CNG)
3.

Liquefied Petroleum Gas (LPG)

S
(Eas:
- [+

& DEFDaDo spend (LPG)



Question Number : 127 Question Id : 4771873800 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a correct first aid step for treating burns?

O rdireH D58 2chTeas Sob ,AE° B N8N PHD D88 OF seth?

Options :

Never pinch the blisters

1. ® Z
Keep the burnt part under running cool water for 15—20 minutes
528 grrra)y 15-20 Dfbaren Sedd I8 Hario 8o soddo
2. ®
Apply ice directly to the burnt area
v 5208 aro@rnd Fr Hhodhd orabdo
3.

If burns are severe, apply olntment carefully

8% rairen Ao soll, ePiEmT sonoSols Traho



Question Number : 128 Question Id : 4771873801 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the correct statement related to silk and cotton:

206 0BG H D80 H3H P Hboiok:
J_:. -l .}

Silk contains mainly proteins, while cotton contains mainly

carbohydrates.

o

%& Hordorre LQ‘S'E,M- &ofFan, ;5,%;@?‘ RPHorT E’Eﬁjﬂf ) BotFPoDn.

L+ n

1. ¢

Silk contains mainly carbohydrates. while cotton contains mainly

proteins.
2épd” FHrdore 5°6°3PGE Sotra, S&E GorSorr f"efﬁ &otron.
] o —a = =
2. %
Both silk and cotton contain mainly proteins.
2ép svbdin H& Tollr HTrdorr c.,-*ﬂaa"a DA Sotron.
5
3. %

Both silk and cotton contain mainly carbohydrates.

o 3
o

o 208050 D8 Botlr EEPRom™ "35'"‘ 27 E'ie.,m 2D Soton.

-
,lbi':‘__,



Question Number : 129 Question Id : 4771873802 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Among the following. identify the professionals who wear "aprons’ as part of

their professional attire

\ ST - e o - = L TN et a B T =
ol se&&°, o8 8 8HBZR & :.;;P;-@’E‘ griomt ‘8P’ H8od dajessed HBotol

A Doctors

= s

oL
. =

B) Lawvyers

C) Chefs
Daien

D)  Police
F0en

Choose the correct option:
KE% PPl Joihsod:
Options :
A& C Glllj:

A & Cirgd

1. ¢
B & D only
B & D sirigah
2. %
A & B only
A & B e
3. %
ABC&D



Question Number : 130 Question Id : 4771873803 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Cartilage 15 present between which of the following body parts?
g P g VP
808 ¥88 grred® 36 Hug; HytHerd Gotnod?
A) Between ribs and sternum
L FEnden 880 &5 %S
S80S0 200D GO c&.l a jD;,.

B) Between vertebrae of the spinal cord

Choose the correct option:

gl = o R :
-:\3'3:'\‘{‘.- rC-{:«.l.T"‘m.,,_lcn_i:'u:‘Jc‘ wotn5 ol:
il L

Options :

A only

1‘ % J.jﬁ. SJPSJ-:E.:

B only

B 533’-‘1&3:
2. ®

Both Aand B

A 58650 B Coisr
3.9

Neither A nor B

A oot $08dm B 5oih



Question Number : 131 Question Id : 4771873804 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
"Wh;f 1s heat considered a cause of water pollution?
Tﬂi)cjﬂ_\ué Fc.*o SPEssnn ootB) eraarth?
Options :
It makes water freeze quickly

=58 HB9 ) &5 hués.,- 7 De08

1. %
It increases the amount of oxygen in water
% =) f\:"',:_'Eé":' 'F_,jg wE- FSla VL Eilnru". Faletnilzale!
2.
It decreases the amount of oxygen in water
20 ABS” sES HBIrerd) B0
3.¢

It turns water into ice, killing germs

-
- Oy oy R :
SO o) c.-u':f'?_..ur‘l-:' ods” &NJO&I ol



Question Number : 132 Question Id : 4771873805 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
As we move away from the surface of the Earth, the air becomes:
Z0d%0 2550 &%Bde0 ok trdore 8- é’:‘-ig. ) 5er Sreod:
-
Options :
Hotter

shbod J&m

7 00O Lieae

More humaid

$:808 B QBT

Denser

SoBos ﬁ%orﬁ



Question Number : 133 Question Id : 4771873806 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Pranavi who is living in Hyderabad would like to visit Kanchenjunga for
trekking. To which state Pranavi should visit to reach Mount Kanchenjunga

Ty | = - R oy 3 = o e BT e R e iy
srtiorere &7 D8t s .gdééon 530 sroddaoll dpUrd)) HoliBoirehfotnod.

el

P03 2ol BPTe) VHE°HTI8 @Hesd) & TRl JotiBoad
Options :
West Bengal

2835 Borrd

Uttarakhand

SETPod

Sikkim

bl
>
(8]

4



Question Number : 134 Question Id : 4771873807 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The distance between two contour lines will depend upon

-

Cotd srotarb Oge i rdo B 8dHl totnod

Options :
The Landform
EAVEPS I o varsTe

1. ¢

The type of soil
e %o
The availability of water

3. %

The interior of the earth

dreosoNo



Question Number : 135 Question Id : 4771873808 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
During South West Monsoons. these areas of Telangana receive heavy rainfall
B58 BHEDHIT o3 $HeHos’, Boorred™ & Erosres® b Horen HXbTow
Options :
The Spouth and Western Parts

$8¢es s0BAIW D380 grrmen

The North and Southern Parts

T T o ey
E‘ED soBdin Dé_ﬁu EPTTPED

The South and Eastern Parts

$38¢es 20O SRSy griTen
3. %

The North and Eastern Parts

&80 00 Srty) grren
4.



Question Number : 136 Question Id : 4771873809 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In 1917. Mahatma Gandhi Launched
19176, shskar) mrod HAA erdodloTrth
Options :

Kaira Protest Movement

oy o I T
PO J0RR GBLs00

Chﬂ mparan Cﬁ l'llp-.‘lig Il

Hoarts wofEs
2.

Ahmedabad Textile Workers Agitation

—_ [
o ch T e L
W5 IrPers S 570,50 @ofED
=

3. ®

Satyagraha Movement

. DdEgiee edho
4. '



Question Number : 137 Question Id : 4771873810 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

During the period of Mir Osman Ali Khan, the last Nizam of Hyderabad, the
irrigation projects like Nizam Sagar, Ali Sagar were designed by this famous
engineer

£ . TR B oo P
&, Dero ariE, @8 B Hodd

aF
&
o
o
?_n} '
am
4
=9
9
m
“
i
[

Sir M. Vishweshwaraiah

wE -

a0 0. E%;%’;ffffag
1. ¢

Sir Arthur Cotton

56 @QE SPE0

Nawab Ali Nawaz Jung

Bord @d) BirE 230h

Mir Wahid Al
&

1)

ARG @)

om



Question Number : 138 Question Id : 4771873811 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

From 1929, the Ryot Sangams were established at Nalgonda, Pillalamarri,

Karimnagar ete. to fight against

1929 :hof, B8 H-a080re sPoeiéras & e 5 EJEP;-J:I;&. E805M6 dndds srogred
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Options :

the exploitation of the Patels, Patwari’s and Deshmukhs
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1.v
the atrocities of the last Nizam of Hyderabad
PETRERS 90 Jero hTriiaredh
2. %

the organisation of People’s courts by the Nizam
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Question Number : 139 Question Id : 4771873812 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

One of the following was NOT a women member of the Constituent Assembly
formed in 1946

& Bob 78S 2.5% 1946 &° D568 Treron ST Soiree DEhiren St

Options :
Ammu Swaminathan
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Hansa Jivraj Mehta
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Begum Aizaz Rasul
o 1 .
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3. ®

Kadambari Ganguly
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Question Number : 140 Question Id : 4771873813 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
In the Lok Sabha elections held in 1977, the Janata party came to power promising
this to the people
19776 =38AS &5 $¢f ades®, ade ar
Options :
Reztoration of democracy and freedom from authoritarian rule

EmaTeEr ‘@ﬁ&:iéﬁa& 586 DbokhE el ol n

1. ¢
Provision of Equal Rights to all the people
q g peop
SHeseotsdl HErs e 8808k
2. ®
Releasing of all the important leaders jailed during National Emergency
e HoD 8RN0 & ?E:-&é”z Hen 35 @giaoild Sy FeohHedolitd Htde
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3. ®

Distribution of wealth equally among all the people
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Question Number : 141 Question Id : 4771873814 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
This Act 1s a comprehensive law to protect children from the sexual offences

through child friendly Mechanisms
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Options :
Nirbaya Act
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POCSO Act
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Question Number : 142 Question Id : 4771873815 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
In this year, all the state Governments in India had passed the law to abolish
Zamindari System
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Question Number : 143 Question Id : 4771873816 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Raviis 8§ years old. His height and his body weight are 1.55 metres and 45 Kgs
respectively. Then, his BMI 1=
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2.4025
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, » 18.7304
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Question Number : 144 Question Id : 4771873817 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The Indian Constitution refers to the ‘Right to Work® under the
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Human Rights
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Directive Principles of State Policy
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Preamble of the Indian Constitution
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Question Number : 145 Question Id : 4771873818 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Read the following statements carefully:

506 arsze ePfiae $t8ok:

Statement (I) : The themes of EVS are - Family, Games, Animals, Plants,
Society, Shelters, Food, Travel and History.

s (1) : EVS &° a@saren - Senono, sten, soiden, 3n8en, Siireo,
BE0ren, @sF50, @0Tmo sHHdin SBE .

Statements (II) : The themes of EVS are relevant to children’s life.

s (11) : EVS &%), 888)@ren Hoo £0a05 Soeoodda sotron.

Options :

Both Statements (I) and (II) are correct.

(I) %8650 (II) aespsen Bokr $BHD.
1LV

Both Statements (I) and (II'] are incorrect.

(I) %805 (II) avsgzen Bokr $85°%.

2. %
Statement (I) is correct and Statement (II) is incorrect.
ass (1) $58:58 $8dm amggy (1IT) $Bs0ih.

3. %

Statement (I) is incorrect and Statement (II) is correct.

aes: (1) $65°th S8cio amgy; (IT) $388.



Question Number : 146 Question Id : 4771873819 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which of the following tool helps a teacher in assessing a student
comprehensively?
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Options :
Parents’ feedback

ED00|the Q,EE.:.;EE}

Summative assessment
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Portfolio
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Rating scales
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Question Number : 147 Question Id : 4771873820 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

One among the following 1s NOT an objective of taking children to a zoo on
field trip
808 B3t 2,58 Dol e % "é;:ué B5% &2 S¢o @, ©E0 =0
Options :
To widen their knowledge and understanding about animals
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To make them by-heart the names of animals in the zoo
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To make them aware of the things available at the zoo
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Question Number : 148 Question Id : 4771873821 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

This step in the lesson plan reflects teacher preparation bevond the textbook
RU; (Rer@EE R & 58 SPTnsas Suod GarrEdd 84580 H8Doknob
Options :

Teacher's notes
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Evaluation method
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Headmaster's reflections
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Academic standards to be achieved
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Question Number : 149 Question Id : 4771873822 Question Type : MCQ Option Shuffling : Yes
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

A teacher has taken Class IV students to local gram panchayat and made
students discuss about its functions with panchayat secretary. The academic
standards that can be develﬁped with this activity 18
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}  Conceptual understanding
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B) Information skills
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C) Experiments
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Choose the correct answer
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Question Number : 150 Question Id : 4771873823 Question Type : MCQ Option Shuffling : Yes

Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which one of the following features DOES NOT relate to the effectiveness of a

teaching aid?
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Options :
Authentic
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Fulfilling the purpoze
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Appropriate for the student background
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